Tt #
A= X - Ba

= 100VA
B 1ph

FEiR ¥ 50/60Hz
IREE 200-220V
2REE 100-110V
2RER 1A-0.91A

86 +=0.5
4-90+05%x6.0%£05 fﬁﬁfﬁ%*ﬁi’;lj BE
71 +05 [EEPN) HiZEHT  [100MQ LLE (DC500V)
WMEE |52 1wd
3 ﬁﬁﬁiﬁ}ﬁ JISC 6436 / 5310
& grm 52 | 4%
Ho
i)
o
o
g ° e
H 0, (o)
E SEC 100VA PRI 50/60Hz 220\[/ | .I .IOV
= -‘- ..
= RIS 200V | 100V
8 CEEEEEEN Pri. | Sec.
50/60Hz | 100VA

ov | ov
E

5 |
s
@ —® d
76 *+2
B s
BE | B | weem | ommersoz
ZE | AE
TEANN = B B IEEEREEE ZFR NME21-100
o 40 468 N =A% RE 1/2 i .
FEAEGEERKA ST TTg T A % S86-LOATPV




